oPT

OQC-020¥lz8 A Bk

0OQC-020 Robot automatic quick changer

. ﬁEZOkg; e Payload capacity 20 kg;
o~ W . e Steel balllock system;

o KAMBKBIELI; e With dustproof function;

° Eﬁﬁ)ﬁQIﬂﬁE * Adopt the mechanical self-locking design;
= s

® Prevent separation separation from separating when when source of cut off.

* XANM B drit;

N N e N
Lk W,ﬁ/m\ﬂ\t}] &ﬁﬂjﬁ{m” Do — EERIFN (KN) Connection retention
— #&FH (KN) Lifting force

— TEEMR (um)Moment clearance
— H%EEE (um) Torque clearance

3.5 60
3 50 /
2
30
?_j\ e ;f% 20
5 5
~ \Z/ 10
0.5
. 0 /
0 10 20 30 40 50 60 70 80
0 0.2 0.4 0.6 0.8 1 1.2
HESEMPa) J3%E (N.m)
OQC-020iE ] . —FIHELE OQC-020&4E. HIETUZEE
OQC-020 Continuous relay, lifting force curve 0OQC-020 Bending moment and torque changer curve
ARz E E(FE R E)Payload capacity 20kg
N EBESREE Positon repeatability +0.02mm
AR 4875 [ Bending direction( Mx.My) 5.5N.m
Stat llowable t
e aionEbieforane 8758 Torque direction( Mr) 78N.m
P& (HSE 0.49MpafT)Tight locking force (When the air pressure is 0.49Mpa) 2090N
84K Main body fB&% Aluminum alloy
& Material
ARERSS BEHNHIZE D Locking mechanism B2 Alloy steel

Mainbod
SHEOEY MR T (8 ZRfLock) Housing diameter(Lock when locked)

HLEE A Robot side
FEmES Product weight

TEM Toolside
HFEELEEH Disassembling institutions

FRERN{ES JE Disassembling action pressure

AYFIBESIEESEE Allowable temperature and humidity range

@A General WS FL Pneumatic port
Hif . e -
TN EH General FB{S5 &= Electrical signal

(%&He Option)

P tEtheeEiBs MODULE INSTALLATION DESCRIPTION

IR RIR
Adapter mounting block

SSER(BEEREK)
Signal module (direct mounting) ‘
RN ESBR(BIIEERRE )
Quick changer agent Signal module (mounted Via adapter block)

21 www.opt-eoat.com Data Drawings, 3D Models,Operating Instructions

®90mmxH48.6mm

0.48kg

0.34kg

NEREMEIE Steel ball position lock

0.39~0.7MPa(4~7kgf/cm?)

0-55T, 0-95%(~£5#%No condensation)

M5 x 124>

2A x19PIN/5A x12PIN

TR
Adapter mounting block

SR RER( B RR T

Gas path expansion module 2moumted via adapter block)




88 N\ BohiRig
ROBOT AUTOMATIC QUICK CHANGER

P 9MERS OVERALL DIMENSIONS

e AM: OQC-020-A

Robot side 33
N |
1J84%=: 7.03.01.0007
Grder number CD -
B of 5f < 34 14 P LY S
Price 5 ;a’\ ‘ ® of
| ]
/ | 14-M5
2 X @4 H7 V6.5 2xM3V6 L 1310V1
1248453

L. SiE#HSTL

4xQ43RE U: MFF#STL - 60
L 199.5¥90°
[ =] 8xM6V12
o TG
©9
pe ©7 | \
O\ ) ©s N
- He= 3x@5HT I8 | NJE \‘
@90 @53 48.6
40.1 PSR B 5 &
R =4 PTLO2-19P-I-A
3 ESEIR
B - - -
TIOS\TJ@JQ 0QC-020-B 4xP45RE Lans ,%B
iJ#4%S: 7.03.01.0008 L109.50v20 40.1 L1610Vl 4xM6F10 ==
Order number 124RHSTFL
B =5 4xM6T8
Price
©r A\ &
- .
< )
] x|
o) © N
- 2x@5H7 T8 B
===
486 263
AR B R -—b5
33
~ — o :
A et | S .o
2xM3V6 2 X @4 HT V6.5
NI
P 2t INSTALLATION DESCRIPTION
" " 0512 EBSEEee « PTLO5-12P-I-B
4-M4x35 SEESR . PTLO5-12P-1-A N _ 1|
E 3 Electrical tor PTLO2-19P-1-B
28 AFE Robotarm IR M4 TR lectrcalcomoror PTLO2-19P-1-A ectrical connector
EEHEE C ting fl Mounting plate tapping M4
‘ RS Connecting flange ‘ teeth Directly installed BAREERTSHMAET
Media through for
- 2-@5x16 ! pneumatic agnd vacuum

tapping M4 teeth

|
|
|
|
|
— = |
S & 4 |
i 4-M4x35 | g -
‘ RERRE M4 F ! u § .
| Flange mounting plate 1 4
| |
! | / LESHESK: PL6
| |
| |

4-M6x25 ERSHESL: AP5002000N20 L type connector
,,,,,,,,,,,,,,,,,,,,, EEARTE, REIR 06537 Straight gas connector
Connecting fixture fixture, mounting
plate 6.5 through hole

Data Drawings, 3D Models,Operating Instructions www.opt-eoat.com 22



	页 20
	页 21

